R BE 7K 3= XL R B B IR A A SR 4 B I A KU W B e N R e BB st ML 55 A

KT BEE K FE LA R E R & RSy
BRRESHERTRG . BHREAREH
BN T HIAH

AEEHEHM: 201841 H6 H



SRR 7K LA R BC B A TR T P 0 i o B R e dble N R U AR Bl 95 O A 7

F e S FK [52]45 7 =F= BULLF R 356 e B VR A 2 AIE
FI RS
FL G HFR [5]{ 7K = XUR)
He ARG 000824
RE&EHNLR {5 7k =F L 4 HEA PR A ]
AR PRAE (A N IR EE S5 3 R 2 4
IV AR HEE R R RS EEE
HME) SRR, (MG ARFER
Z1F) RGN B R A ALEH R R 5 4
A 1A (RS 7K XA R R T B R
HRNER R ESWE VAT NE
KV E
B B s H -
B R H g a6 H 2018-01-08
E R YN IR -
BE KB N LR B 2018-01-08
B B[R] s H -
PHF A ks H -
BT A IRML 55 RS | B R e AR Pk i H 2018-01-08
BH . SBURE | BREI RIS Rz NRMT) | 200, 000, 000. 00
B BR A BB N CBLfz: ABGTT | 200, 000, 000. 00
J6)
PR 1) e W e A ot 8 (2. N | 200, 000, 000. 00
ENEPI)

T CRAD Wl (R N 5
o] BB EWIERI T 1
JE A i

N T IRAERE TR e, Ry e

(GRS RPN F o

NE T P N RIAR

2] 455 7K = XUF) A

45 7K EXUR] C

[l Rl e AR %)

* *
T @ K E 1A ARG 000824 000825
G RIES R BEE/E CRED Bl (BN, W | 2 &

NE PR RIS (A ARTIT)

200, 000, 000. 00

200, 000, 000. 00

MR 7 G e B R A R S N iz AT

200, 000, 000. 00

200, 000, 000. 00

R P R IR E 0 AR A R AR
7o)

200, 000, 000. 00

200, 000, 000. 00

2 FMHERTHIFHR

(1) H 20184 1 A 8 Hilg, fEAIESHIPFTrAHEIN (O A EHEE) BIEKFX

o2 30




SRR 7K LA R BC B A TR T P 0 i o B R e dble N R U AR Bl 95 O A 7

TR R e B IR A BN AR A 5 4 o F N SR A K P 10 Bt R U CRL S e N L B R 50D
G ERONTRALTE (BRACTD) , Hrh AT G A B3 C An il i) R 1 F <oy ol v 5, g —
HES R BRI SA EIRARIZTE (FRUZTT) , W AR IK T R B —JE 4
TRERE S ) FR I AR I TAZTC, TEM IR A BUHZHE S 7 2 HAR A Y SR 2E el 2 28 R
HUTE AT IR AL, S 2% A DML i A 45 ST

(2) TEFI5FARTE G (R AR T 55 JATR] - A 5 (1 e [ 5 FL A 55 R s DG TR B AR
G KB DY 55 (g AR ES [], B K 1T At .

(3) A EEN], THIRATALN TR RS HLTE (400-607-0088) BRE AL ] i
Cwww. gtsfund. com. cn) FREUHSE(E .

(4) R HR7R: FEE IR LASEE R . SR 5T i) JE 0 BN IS F B 57, (HAVR
EHEE—ERA, WARIERACS T HOE PR R ARG . R IR T AL G A1 5540
WEBEE (FEEF) K GRERETR) SRacit.

FrE A

159 7% 7K - 22 4 BEAT BR 24 7]
2018 41 H 6 H

b
=
o
-



